= O
N & o & AF &2 H Ml A
012 S SOIA LBHEIH, IIEFSEE ASISRID ~ ALSI = XDt
SH: AEI=X D
M FHONE KA (ASSN/IIZMSST
Sl HASSMBOFN S (el & 2
= o MuE o
SN-EHH . SH(BH) - HPAY - BE2 Ofl &+ 04 il b o B2
NEESn 1,369, 151,205 1,213,570, 497 155,580,708
=2 949,714,671
= 36,475,880
Al 382,960,654
FHONE NAMNISN/IIZMHST) 1,032,274,624 936, 368,990 95,905,634
HUVSE : HAS ARl B35 23
= 866,723,783
= 9,504,222
Al 156,046,619
HASEMEHT 394,680,663 411,409,882 A16,729,219
SDNNE 1:IEZME 23X 2438
SEEE 2T 9.7 %
= 350,841,533
= 9,504,222
Al 34,334,903
A0 282,603,478 290,984,786 8,381,308
= 261,582,710
Al 21,020,768
308 XX SIS 0| F 282,603,478 290,984,786 8,381,308
= 261,582,710
Al 21,020,768
01 RXSHBABES 282,603,478 290,984,786 8,381,308
420 282,603,478
= 261,582,710
Al 21,020,768
=H20f 61,736,322 70,405,571 8,669,249
= 57,215,310
Al 4,521,012
308 XX SIS 0| F 61,736,322 70,405,571 8,669,249
= 57,215,310
Al 4,521,012
01 RXSHBABES 61,736,322 70,405,571 8,669,249
ESIEL 61,736,322
= 57,215,310
Al 4,521,012
DEZ0 17,946,741 17,258,524 688,217
= 16,611,910
Al 1,334,831
308 XX SIS 0| F 17,946,741 17,258,524 688,217
= 16,611,910
Al 1,334,831
01 RXSHBABED 17,946,741 17,258,524 688,217
RS20 17,946,741
=2 16,611,910
Al 1,334,831




A A= XD
BB NS N (A
l_C}._CI?_l I{_J‘\_EiAHiFO}—X‘lxl

SSMHEFEXE (¢t &
S EH . S(BH) - NEAY - B2 0fl Ak o ggi HDE2
oHAFE M2 1,547,069 1,612,062 64,993

= 1,433,860
Al 113,209
308 AXIEHHI SOl 1,547,069 1,612,062 A 64,993
= 1,433,860
Al 113,209
01 XAIXSHMIAEXZ 1,547,069 1,612,062 N64,993
o AFE K2 O 1,547,069
= 1,433,860
Al 113,209
Ix==3 X 32L& X 8,285,903 9,071,144 NT85,241
= 8,285,903
308 AtXIEHAISOIA 8,285,903 9,071,144 NT785,241
= 8,285,903
01 AXESMBIAMNEXS 8,285,903 9,071,144 NT785,241
JZz+=32 N 242 &0l X& 8,285,903
= 8,285,903
AAAHES X280 XA 1,087,507 1,052,350 35,157
= 966,671
Al 120,836
308 AtXIEHHI SOl 1,087,507 1,052,350 35,157
= 966,671
Al 120,836
01 MHXSHHEBNEE= 1,087,507 1,052,350 35,157
A HSES =0l 1,087,507
= 966,671
Al 120,836
MNASF0 282X 5,338,321 5,338,321 0
= 4,745,174
Al 593, 147
308 AHXIEHHI SOl 5,338,321 5,338,321 0
= 4,745,174
Al 593, 147
01 MIXSHHEBNBEE= 5,338,321 5,338,321 0
2SN AS 5,338,321
2 4,745,174
Al 593, 147
HNASF0 2183325 30,000 30,000 0
307 2I12t0|A 30,000 30,000 0
01 Sl2¥2=H| 30,000 30,000 0
Al 2 HASF0 2Z371S 30,000
HNASZF0 EHXA 6,401,600 6,282,800 118,800
308 MXISHHSOIH 6,401,600 6,282,800 118,800




SN
X XH .
S Tt

el

At = X ot

SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
01 XM EXS 6,401,600 6,282,800 118,800
=S AE FHAHE AMHIESEXNIAS 6,094,000
E=R=g8 Rl 50,0002 *11,0000t = 550,000
CUFETASB 5,544,000
-Sar 60,000% *8,700H 43| 2,088,000
- 80,000& 10,800 *4 3l 3,456,000
THARAHE AMHISEXE ALY 307,600
2=yl 50,000& *1,2002t 7 *23| 120,000
CuFEAS 187,600
-S& 60,000 x315%H 43| 75,600
- 80,000& 350 »4 23] 112,000
MAS=0 X& JRF8 36,000 36,000 0
202 (4Hl 4,000 4,000 0
04 =Hlt0oHl 4,000 4,000 0
IN=MESERIA S8X He 4,000
203 R4l 32,000 32,000 0
03 AHEFIHSFAH| 32,000 32,000 0
NASE X8 30,000
=g HRFH 2,000
M EXNEESRH K& 9,667,722 9,338,324 329,398
2 9,504,222
Al 163,500
201 et 15,000 7,000 8,000
03 A2 ZHI 15,000 7,000 8,000
MISXNHESER JF HES 15,000
308 NXISHHSOIH 9,652,722 9,331,324 321,398
= 9,504,222
Al 148,500
01 XM EEXS 9,652,722 9,331,324 321,398
ANEXNEE SR 12| 9,504,222
2 9,504,222
ANIEXNHEESRH HRELX A2 K& 148,500
SAll 5,000 x225H x22 * 12 x50% 148,500
NASE o2XR(A230I12SL3IH) 566,578,368 463,263,839 103,314,529
dUXNE 1 ASS0H =524 Atdl2tel A&
golds SHEX ¢ 10,600 Y
= 452,198,402
Al 114,379,966
2 AS(HH) 558,236,271 455,191,273 103,044,998
= 446,589,018
Al 111,647,253




FA:
DHAANS NS (MIAEX /DI ZHEET)
=l

X ZH
S =

At = X ot

HASEE A=2NE (A=2S0HIISSLSAH)

SNBSS - MEAY - BES

OH
i

22

20
B
2

201 B2

1,664,030

1,331,224
332,806

1,614,980

01 AtR 22
=3

SIS 2l A /IS L=

= W

=

1,664,030
1,103, 160
882,728
220,432
560,270
448,016
112,254
600

480

120

1,614,980

49,050

307 G12t0ld

= W

556,572,241

445,257,794
111,314,447

453,520,521

103,051,720

05 BI2t

SHl OE

A2 M2 XHl 0E

1o
f
il
=
>
10
"
£l
Ho

= H = 4

= W

556,572,241
553,974,251
442,729,402
111,244,849
2,567,990
2,504,392
63,598
30,000

24,000
6,000

453,520,521

103,051,720

7,011,730

5,609,384
1,402,346

6,742,048

269,682

308 NXISHHMSOIE

= W

7,011,730

5,609,384
1,402,346

6,742,048

269,682

01 UHXSHHBLEE2ES
=

= W

7,011,730
7,011,730

5,609,384
1,402,346

6,742,048

269,682

15,729

17,725

A 1,996

201

e
T
H0
02

9,500

9,500

<

=
fU U -0
W o

1=
n

10
> > DT| o

EE2= NH
X

10
2 2
R M@
]
1]
=

100& 65, 0000H
=t 10,000& 3005

9,500
6,500
3,000

9,500

2,729

1,365

1,364

0 o|=
I e
Y=

19

10

]

10

75,8003 +3& »2 «63]

2,729
2,729

1,365

1,364

2
Qo Wl

10
i
A
(==

1,000

1,000




SHAR
DEHAANE X (ME
el

X ZH
o=

At = X ot

HAEsSE A=A

=

|
(A220II=ELE3IH)

SN I SRI(S) - NRAY - B 0fl b Soe B RS2
03 AZFXHRFAH| 1,000 1,000 0
2= YRFA 1,000
303 L&z 2,000 2,000 0
01 &3 2,000 2,000 0
SIESHAMY BitBEAS 2,000
F R 1,000,000 174 J| & 1,000
f 500, 000& 24 J| 2 1,000
405 KHoHESHI 500 3,860 23,360
01 T =S HSHI 500 3,860 23,360
WEE Jtollet 500, 000 *1CH 500
ol gl bl 1,314,638 1,312,793 1,845
801 aildldl 1,314,638 1,312,793 1,845
01 oilgldl 1,314,638 1,312,793 1,845
ol g1l 1,314,638
MASoH= X 71,015,593 61,695,269 9,320,324
SUXE 1 HEAME 0 == HEHdSE
golds SHEX : 10.4 %
= 63,683,843
Al 7,331,750
NEZZ2AY 50,138,707 46,852,583 3,286,124
= 46,419,186
Al 3,719,521
308 XX SIS O| & 50, 138,707 46,852,583 3,286, 124
= 46,419,186
Al 3,719,521
01 MXSHIAEEXZ 50,138,707 46,852,583 3,286,124
2= ALY 50,138,707
= 46,419,186
Al 3,719,521
KNS A&de X 4,002,263 3,811,680 190,583
= 2,801,584
Al 1,200,679
308 XXl S SO| & 4,002,263 3,811,680 190,583
= 2,801,584
Al 1,200,679
01 MXSHIAEEXZ 4,002,263 3,811,680 190,583
NaAxady 29 4,002,263
= 2,801,584
Al 1,200,679
Ay M EX= 245,280 245,280 0
308 NXISHHSOIE 245,280 245,280 0
01 XM EXS 245,280 245,280 0




AT MEISX
HH: FHAAS K (M=EX/II=
¢el MASIH Exd (98

0z
o
H
N

SNBSS - MEAY - BES 0l &k 24

=1

R

121
==
El
i
oy

AgdEH MY SX+=E 245,280
o 170,000 «1162 + 123 236,640
| 2 120,000 «6H «12& 8,640

EA2=3H 5,439,277 3,006, 147 2,433,130

5,034,000
405,277

= W

308 AXISHSOIA 5,439,277 3,006, 147 2,433,130

5,034,000
405,277

= W

MEXEF 5,439,277 3,006, 147 2,433,130
N 5,439,277

5,034,000
405,277

= W

A=
>
~
0%
g
HO
x
[==

N
>

Q

,469,286 1,469,288 A2

,210,000
259,286

= W

wW
o
(e0)
P}
&
o
oin
(=)
Pl

,469,286 1,469,288 A2

,210,000
259,286

= W

HHENELS 1,469, 286 1,469,288 A2
A ,469,286

,210,000
259,286

=
e

= W

FANENE 23 441,500 431,523 9,977

309,050
132,450

= W

307 QI12t0IH 441,500 431,523 9,977

309,050
132,450

= W

|2 X 441,500 431,523 9,977
ZSEXEHEH X 441,500

309,050
132,450

=

dutzte| g KHEAIEAMY 2,785,000 2,785,128 N128
2,228,000
557,000

= W

307 2120l A 2,785,000 2,785,128 A128

2,228,000
557,000

= W

2 2,785,000 2,785,128 A128
THEAHEALY =& 2,785,000
2,228,000
557,000

= W

=N 6,402,280 2,910,805 3,491,475
5,682,023

H




A A= XD
HE: FUHE N (AMSSK/IIZMEDE)
=3

=Rl MASIte A& (et =3
_ _ _ Muo
SA-E . S(E) - MEAY - BES O & o4 e SImE=ET
Al 720,257
308 XXIEHHSOIA 6,402,280 2,910,805 3,491,475
= 5,682,023
Al 720,257
01 MHXSHIAEXZ 6,402,280 2,910,805 3,491,475
3Wrs =& N 6,402,280
= 5,682,023
Al 720,257
XA X3 (2H) 92,000 84,000 8,000
201 Let2d| 2,000 2,000 0
01 AtE22(H] 2,000 2,000 0
NEHEXA 2,000
307 QI2t0IA 90,000 82,000 8,000
10 At3I=SXE X 90,000 82,000 8,000
SATESOE A K& 10,000
ANEEOEA GOt ESs 2 2Z2AESEH S
gozd 24 80,000
KNSAMSISXMEIA K& (MSSX/HAANSKE) 51,032,078 50,481,269 550,809
U=  NGM=SX A& 25
= 15,080,813
&2 7,399,800
Al 28,551,465
MIEXAE XA 25,164,289 26,071,780 A 907,491
SHXNE 1 A2 JIsE2S Haze
gold s SHEX 20 HA
= 6,280,000
Al 18,884,289
AMelEX2 & XI& 25,164,289 26,071,780 A907,491
&2 6,280,000
Al 18,884,289
307 GI2t0I A 38,800 0 38,800
05 BItRE = 38,800 0 38,800
MBS XAIE BOH K& 38,800
308 NXIHHSOIH 23,823,489 23,021,780 801,709
= 6,080,000
Al 17,743,489
01 XM EXS 23,823,489 23,021,780 801,709
Asl =X 2 19,597,812
Atel = X2t 2 19,597,812
&2 5,000,000
Al 14,597,812
MIOLZ2 X SAEE 23 4,075,677
Mgy 29 3,753,117




AT MEISX
A XAAMS=ZXNMEIA XZ(ASZX/HLHSIE)

&2 A =XAIE X& (&=l & )
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
= 1,000,000
Al 2,753,117
S AE =X 322,560
-5 80l& 170,000& x156H «12& 318,240
-5 =08t 120,000& *3H 12 4,320
ABIET2 JIs=Z(SHEMY FT
50,000,000& *271 £ 100,000
=2 80,000
Al 20,000
MIOIs=S=E2XHE 23 40,000
20128 Atsl=X128 Bitee=X2 & 10,000
403 NXIEMSK=01H 1,302,000 3,050,000 A 1,748,000
=2 200,000
Al 1,102,000
01 AXESMA2E = 1,302,000 3,050,000 A 1,748,000
AMsIZ2X 2 D522 512,000
= 200,000
Al 312,000
SETEMI=ERNE EF 400,000
SHEEE A& &= 390,000
KNS X AL 25t 19,917,036 19,911,416 5,620

13,097,102
29,800
6,790,134

= AL A

KIS AMSIMHIA SXEAIS (KISHLE) 9,564,523 11,739,765 N2,175,242

7,218,247
2,346,276

0

= W

308 NHXISHHSOIE 9,564,523 11,739,765 A2,175,242

7,218,247
2,346,276

= W

=PNIEES= 9,564,523 11,739,765 2,175,242
MEIAE ) 9,564,523

CRORHOHLE AIEX 5,330,050
3,731,034
1,599,016
4,234,473

3,487,213
747,260

= W

A
P
po
>h
-
e
og
_>':
?
4
pal

= W

KSAMSIMEIA SEXAIS (KIS LERS) 3,158,966 3,393,348 N234,382
2,211,275
947,691

= W

308 AXIEHSOIA 3,158,966 3,393,348 N234,382

= 2,211,275
Al 947,691




AT MEISX
A XAAMS=ZXNMEIA XZ(ASZX/HLHSIE)

Sol: XH=XAE 23 (Etel: &8
SAN-ZH-SA(FA) - NFAY - BES Off &F oK gl,liafg Hlw &2
01 RAXESHBARES 3, 158,966 3,393,348 234,382
NNV EIESES =IO E L) 3, 158,966
= 2,211,275
Al 947,691
KIHASI MBI ASRAY 22 (XI) 304,000 416,887 A 112,887
= 204,000
Al 100,000
201 Yer2ey| 31,000 33,887 12,887
= 31,000
01 At el 31,000 33,887 12,887
THAS MBI AETIAY 2 31,000
= 31,000
307 BI2t0IA 250,000 360,000 A 110,000
= 150,000
Al 100,000
10 ASISREE 250,000 360,000 A 110,000
SAXGAS MEIA ERAILXBE 2 250,000
= 150,000
Al 100,000
308 KIXIEHHISOIH 23,000 23,000 0
= 23,000
01 RXESHMBALES 23,000 23,000 0
XM MEIA EXAY 2 23,000
= 23,000
MNEZXESMEAHSRAR 2 1,234,200 1,123,424 110,776
= 822,800
Al 411,400
308 X+ EHHISOIH 1,234,200 1,123,424 110,776
= 822,800
Al 411,400
01 RAXSHBARES 1,234,200 1,123,424 110,776
MBI EXES MU AHSQRAXI 1,234,200
= 822,800
Al 411,400
== NR=LI=5] 160,000 160,000 0
201 Yer2oy| 160,000 160,000 0
01 At el 160,000 160,000 0
Z2022S| AY =3 160,000
R=TAY KR (HE) 2,221,927 2,131,827 90, 100
201 Yer2y| 40,250 39,250 1,000
01 A22t2It| 40,250 39,250 1,000
AEI=XI9 & Ol 3,600
ABISXIZEM SN Q14 3,0009 30004 900

_9_
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AT MEISX
A XAAMS=ZXNMEIA XZ(ASZX/HLHSIE)

Sl X=X AL 23t (el &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il b o bRz
ASSTIRAZAL O1B) 2 29 50,000
MBI ZEFBHE 29 84,000
MBI A IHREL DS 100,000
SUMSZXBER22E AR 120,000
SUHSNHSFUEHT X2 80,000
K ASI S RISFA A IR 12,000
NE=T A X8 (XR) 3,273,420 816, 165 2,457,255
2 2,640,780
= 29,800
Al 602,840
307 2120l 30,000 0 30,000
HNEEEES 30,000 0 30,000
HEtel2 LsER N (HRZX) 30,000
308 XX EHHISOIF 3,243,420 616, 165 2,627,255
2 2,640,780
= 29,800
Al 572,840
01 RASHZLRES 3,243,420 616, 165 2,627,255
o mcw3 2y 30,800
= 5,800
Al 25,000
pEEICEREET 2,000,000% 1674 4 32,000
= 24,000
Al 8,000
ZoopE 2| 50,000, 00024 %77} 350,000
MNEZTAL BA22Q SalY|
5,000 110% *222 + 122 145,200
TTENDLHH KA (ABR2IAY 2 X
o 133,920
2 89,280
Al 44,640
TTENHLHH NS (LB M=K HLH
H e XI) 2,551,500
2 2,551,500
T BUMER 25 2,597,399 1,942,839 654,560
HDXE 1 50 OFR2AX(HBAEY) A%
Sl SEX 11,050 A
= 1,090,000
Al 1,507,399
CHOES (RE) 213,800 143,800 70,000
= 100,000
Al 113,800
201 LByl 70,000 0 70,000
01 ALR2lt] 70,000 0 70,000
Lol UNE 70,000

_11_




SN
D A= N AHIA TS (A= R /FHAHENR)

oLk

X ZH
o=

At = X ot

= ZAMET 25

_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod e HlnE2
301 Lot AE 3,800 3,800 0
12 JIEIE AR 3,800 3,800 0
HELS0 HEY ZAS 3,800
HE2 TN 3,000
HERY SLaH ZA 800
307 Q12+0| & 140,000 140,000 0
< 100,000
Al 40,000
01 Sl2LR2H| 140,000 140,000 0
Lol Azl 140,000
2 100,000
Al 40,000
CEoEs(XH) 113,263 1,547,519 565,744
< 900,000
Al 213,263
308 XX EHH SO0 & 087,263 1,503,019 584,244
< 900,000
Al 187,263
01 IXCHHBAEES 087,263 1,503,019 584,244
Lol 95 ,923,863
CEOIHHS 2% (6H4) 291,032
< 600,000
Al 691,032
L0l 22F 2 95,217
C=OlATE S M (2N A) 451,934
£ 300,000
Al 151,934
Xl =X 4L 85,680
5520/ 4 170,000 2 #4212 85,680
K= A Al 221 140,000
fzxe4 ot X 15,000
SRANBA ZELAO HBEH 700,000 *12¥ 8,400
403 XX SHHISKH=0l& 26,000 44,500 18,500
01 MXISHK=E = 26,000 44,500 A 18,500
LEOIME S BAMAAY 26,000
Bt ST} X 270,336 251,520 18,816
< 90,000
Al 180,336
308 XXl EHHI SO0 & 270,336 251,520 18,816
£ 90,000
Al 180,336
01 MXSHBAEED 270,336 251,520 18,816
U ME T} X 270,336




A AR S X1
M XNAASSRMEIA X (MSISX/FHLHSIH)

Eel b= ZYMEL 25 (ctel: &
_ - P e
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K @,;OH Hlw &2

Zoaga N 254,016
=2 90,000
Al 164,016
A SN+ 16,320
-5580l4f 170,000& 8 =12 16,320
FHOES 3,353,354 2,555,234 798,120
[=R=1¥e]] 3} al =y 2H Xt (e]]
SUXE 1 ;i_ Meg & ez F30 2
gold = 2HEX 66,000 &
= 1,983,711
Al 1,369,643
SOAE 2H(EX) 2,311,681 2,103,709 207,972
= 1,618,177
Al 693,504
308 XXIEHHSOIE 2,311,681 2,103,709 207,972
= 1,618,177
Al 693,504
01 XM EXS 2,311,681 2,103,709 207,972
FHOANLE2S 2,311,681
= 1,618,177
Al 693,504
SYOANE 2F(XHA) 310,605 306,525 4,080
308 NXIHHSOIH 310,605 306,525 4,080
01 XM EXS 310,605 306,525 4,080
SEUANE XA 310,605
SHOANE 2EHI 154,010
el 2X4Y 150,720
528014 220,000& «54H 123 142,560
55 S0 ('110lF ANRMEX)
170,000& »4H 123 8,160
METH BSE2 JdTH E EAHRAH 5,875
SHOANE JIs2 731,068 145,000 586,068
= 365,534
Al 365,534
403 AXIHHSK=201H 731,068 145,000 586,068
= 365,534
Al 365,534
01 RXSHMA2E = 731,068 145,000 586,068
FEHOAL JIsE22 731,068
= 365,534
Al 365,534
o= X KA (ASK/FHLHESKA) 165,922,741 130,683,815 35,238,926
A=  ZL=EX A
= 67,859,256




SN
X XH .
S Tt

el

At = X ot

=X ooetEs

ZOHOI=X XA (AMSISX/FHAAHSKIH)

SN (B) - MBEAY - B2 0f Ao Soe HRZ2
= 19,561,858
Al 78,501,627
ORISR I ZtES 2,447,630 4,095,098 N 1,647,468
SADRE 1 é;?ﬁ%%\}g%s MNATHEAIAL JIsE
gollEde SHEX 7 N
2 935,815
Al 1,511,815
SONCIMEAE DIsES 792,646 2,118,034 N 1,325,388
2 396,323
Al 396,323
403 KXIEHMS K201 792,646 2,118,034 N 1,325,388
=2 396,323
Al 396,323
01 XIXISHMAZ2E xR 792,646 2,118,034 A 1,325,388
SOOI MEAE JIsEd 792,646
= 396,323
Al 396,323
SOOI ATHEAAE JDIsEY 1,078,984 1,368,328 A289,344
2 539,492
Al 539,492
403 KXIEMSK=201HA 1,078,984 1,368,328 A 289,344
=2 539,492
Al 539,492
01 XIXISHMAZ2E xR 1,078,984 1,368,328 N 289,344
SOOI ATHEAIAL JsEH 1,078,984
= 539,492
Al 539,492
ZOHCIAIE &S 576,000 608,736 N32,736
403 XX SHASKA=201H 576,000 608,736 N32,736
01 AXESHMAZ2EE 576,000 608,736 N32,736
ook HE22 95,000
- A E OO S X2 25,000
=32 &= A2 20,000
SALEOC SR 50,000
oI s JlsE2d 268,000
ScH2 &0l = K2 80,000
SRHMI =X 2 23,000
- AIZE O S X2 150,000
- AbAF T EHOH o = K[ 2 15,000
ZONOI KIS ALS THE Al A EHIB A 53,000
ZOHOI KL AIS THEAIE JsEBA 10,000
=g Zoelsi2 55 150,000
ZOHCI=Z2XIAIE X 53,489, 886 46,149,257 7,340,629
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A ARISX 0
A ZHA=ZX X (AZSX/HAAHESKH)
&2 HOoHISXAIE K& (ctel: &
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot HwsZ
AMXE 1 ZoHe MEEI+ =elXd oA
SofEE =HEX : 2,100 A
= 236,000
= 19,316,858
Al 33,937,028
ZONOIMAFZEHONAIE XA (BX) 140,000 138,413 1,587
= 56,000
Al 84,000
308 XXIEHHISOIN 140,000 138,413 1,587
= 56,000
Al 84,000
01 AXSHBAEEZ 140,000 138,413 1,587
ZOHQIAALE THIHAIE 29 140,000
= 56,000
Al 84,000
ZHONOI M AFZEHONAI S XI2 (KHA) 9,120 24,120 A 15,000
308 XX HHSOIA 9,120 9,120 0
01 UHXSHBAEES 9,120 9,120 0
O MASEAILE HJA SXxY
190,000 x4« 122 9,120
SZSZOHQ KMEHE XA 450,000 300,000 150,000
= 180,000
Al 270,000
308 XXIEHHISOIN 450,000 300,000 150,000
= 180,000
Al 270,000
01 AXNSHBAEEZ 450,000 300,000 150,000
ESZOHQ NHHSHE XA 450,000
= 180,000
Al 270,000
SSTHQ NSHESHEH A K& 300,000 250,000 50,000
308 XXISHHISOIN 300,000 250,000 50,000
01 UHXSHBANEES 300,000 250,000 50,000
STSHMQ ASHMHHXZ 300,000
TN MEAIL 2 28,791,854 25,078,004 3,713,760
= 13,071,907
Al 15,719,947
308 XX HHSO0IA 28,791,854 25,078,094 3,713,760
= 13,071,907
Al 15,719,947
01 UHXSHBAEES 28,791,854 25,078,004 3,713,760
DO MEAE 29 28,457,014
oI A Y| 26,763,551
2 12,000,000




A A= XD
B2 Q=X KR (ASISX/HLHSTE)

Sl MOHQI=XIAIL X8 EER:E]
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
Al 14,763,551
Eel2gy| 1,674,151
2 1,071,907
Al 602,244
NEBSX 2SS 2T L =X =2 19,312
TojQIoY AIMES RO 2HAH K|
5,0002+1,5002 7,500
R0l Al SR A X2
3,0002+1,500 4,500
NESSRfQ 4B K
3,0002+1,500% 128 54,000
ANESSR0f0 ARAASH X2 27,600
NS HSHEE 2
1,000, 0002 * 122 %1474 A 168,000
X0l 1010 YAEBAL 2
21,620,000 ¥2JH 4 43,240
HOHHES D 2 15,000, 000! ¥27H 4 30,000
HOHQUTATHEAL 2 3,916,254 3,503,285 412,969
2 1,311,581
Al 2,604,673
308 XXl EHXISOIH 3,916,254 3,503,285 412,969
2 1,311,581
Al 2,604,673
01 IXISHBARES 3,916,254 3,503,285 412,969
FOfQl MATEAE 29 3,526,054
- ol 3,153,555
2 1,155,525
Al 1,998,030
- Belegl 372,499
2 156,056
Al 216,443
I2EQ SA| 340,200
=AYl 3,0008! *450% #2522 340,200
ZHDERAF 24 222=Y 1Y 50,000
HOHQUXIHAS HEAIE 2 19,882,658 16,855,345 3,027,313
2 4,933,370
Al 14,949,288
308 XXl EHXI S OIH 19,882,658 16,855,345 3,027,313
2 4,933,370
Al 14,949,288
01 IXESHBARES 19,882,658 16,855,345 3,027,313
TOHOI=X Y 2 12,095,259
o124 10,542,759
g 2,896,897
Al 7,645,862
2o 1,552,500
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2,000
5,000

340,000

Al
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434,000
5,000
39,000
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23,344
2,400,250
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Al

It

400,000
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207,000
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170,000
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10,080
218,555

IH

60,000
158,555

499,134
460,374
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[

185,000
275,374

Al

38,760
38,760

724,959

673,839

IH

300,000
373,839
51,120
41,040
10,080
341,515

Al

308,635

[

8,635
32,880
22,800
10,080
98,550
93,510
43,510
50,000

5,040
93,330
40,000
53,330

300,000
272,370

Al

I

Al

[

129,000
100,000

Al

[und

26122

ARTHSA)
140,0002

=3

("1001%

t
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s=0l
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30
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00
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190,000& »17H *12&
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102,041,645
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3,711,257
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SN
D DOHQA=X KR (ASISX/HAASTR)

el

X ZH
o=

At = X ot

HASHOMO X2

_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2

308 XNXIHHSOIE 12,370,857 11,608, 162 762,695
= 8,659,600
Al 3,711,257

01 XM EEXS 12,370,857 11,608, 162 762,695
=¥ 12,370,857
2 8,659,600
Al 3,711,257

ZoHeIHA=z XN= 33,544,678 34,171,703 A627,025
= 23,481,275
Al 10,063,403

308 NXISHHSOIE 33,544,678 34,171,703 A627,025
= 23,481,275
Al 10,063,403

01 XM EXS 33,544,678 34,171,703 A627,025
HoHIH= 33,544,678
= 23,481,275
Al 10,063,403

ZOHel of=Hl X 2,500,000 3,851,968 21,351,968
= 2,000,000
Al 500,000

308 NXIHHSOIH 2,500,000 3,851,968 A 1,351,968
= 2,000,000
Al 500,000

01 XM EXS 2,500,000 3,851,968 A 1,351,968
e o =4l 2,500,000
= 2,000,000
Al 500,000

ZOHQI X wW=Hl XA 99,109 82,904 16,205
= 79,287
Al 19,822

308 MXISHHSOIH 99,109 82,904 16,205
= 79,287
Al 19,822

01 XM EXS 99,109 82,904 16,205
ZOHA N W= 99,109
= 79,287
Al 19,822

HOHeISE & El 96,040 89,560 6,480
= 48,020
Al 48,020

308 MXIHHSOIH 96,040 89,560 6,480
= 48,020
Al 48,020

01 MXEMISELS 96,040 89,560 6,480
Z O S =& I 96,040




SN
D DOHQA=X KR (ASISX/HAASTR)

el

X ZH
o=

At = X ot

MASZOHS K&

_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES O AFH 'oﬂ/'\_WH Hlws2

= 48,020
Al 48,020

HoHoI= XL Rtel B 1,008,060 765,600 242,460
= 521,850
Al 486,210

308 XXl EHHISOIH 1,008,060 765,600 242,460
= 521,850
Al 486,210

01 HXESHBAEES 1,008,060 765,600 242,460
HOHQI= X LR EIAY 948,660
= 474,330
Al 474,330
22 AI2LRO§OI OHOFAF TR ALY 59,400
= 47,520
Al 11,880

ZOHQl #HE 20l 2,576,626 2,489,760 86,866
= 1,288,313
Al 1,288,313

308 KXl EHH SOl & 2,576,626 2,489,760 86,866
= 1,288,313
Al 1,288,313

01 HXESHBAEES 2,576,626 2,489,760 86,866
HOHOI N E 20| 2,576,626
= 1,288,313
Al 1,288,313

HOHQIAISI B S KR (XIR) 207,360 13,946,817 A 13,739,457
= 145,152
Al 62,208

308 XXl EHH S 0| & 207,360 13,946,817 A 13,739,457
= 145,152
Al 62,208

01 HXESHBAEES 207,360 13,946,817 A 13,739,457
OIS XA AHIYA 022 X 207,360
= 145,152
Al 62,208

HOHOLS IS X R (X A) 469,200 494,160 24,960
= 328,440
Al 140,760

307 QI210|H 469,200 494,160 24,960
= 328,440
Al 140,760

10 ASI=XIEE 469,200 494,160 ~24,960
ZOHOIIE OIS LS XA 469,200
= 328,440
Al 140,760

TOHOLS IS X R (X R) 4,799,292 4,663,632 135,660

_20_




=M ASI =X Dt
B2 ZHQI=X KR (ASSX/HLHSTE)
ol HASHOfO! X (ol &2
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 Sl ko HRE2
= 3,359,504
Al 1,439,788
308 XXISHHSOIE 4,799,292 4,663,632 135,660
= 3,359,504
Al 1,439,788
01 XM EXS 4,799,292 4,663,632 135,660
HOHOots MEX=X& 4,523,292
= 3,166,304
Al 1,356,988
Al &2 ZOjel 22 RHAS oL 276,000
2 193,200
Al 82,800
FOoHel EX0|7 X2 A 136,000 79,000 57,000
= 136,000
308 XX HHSOIA 136,000 79,000 57,000
= 136,000
01 HXSHBAEXZ 136,000 79,000 57,000
DN EII T (HHAMEREI )DL 36,000
2 36,000
MASEMHIX S 6,177,280 5,123,000 1,054,280
308 XX SIS 0| F 6,177,280 5,123,000 1,054,280
01 XM EXS 6,177,280 5,123,000 1,054,280
HOoHe MHeE=¢ 30,000& 11,000 x12& 3,960,000
SSE0e gs2x A 2,217,280
ZOHCl EXD|F At 22l Al A 200,000 0 200,000
= 100,000
Al 100,000
308 AXIHHSOIH 200,000 0 200,000
= 100,000
Al 100,000
01 HXEMBLEXS 200,000 0 200,000
Zojel BEII AR AR AL 200,000
2 100,000
Al 100,000
ool gs XFME(H2RH) 37,857,143 0 37,857,143
= 26,500,000
Al 11,357,143
308 XXX SOIE 37,857,143 0 37,857,143
= 26,500,000
Al 1,357,143
01 HASHBARSES 37,857, 143 0 37,857,143
ZOHOI S X2 (HH2KH) 37,857,143
= 26,500,000
Al 11,357,143
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